
CALCULATION OF APPARENT  INDUCTANCE  (L)  IN  SHUNT  IN A

TRANSMISSION CIRCUIT  with   L  and  Rx  in  SERIES
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ATT Rx
2
4 π

2⋅ F
2⋅ L
2⋅+

R

R 4 Rx
2⋅ 4 Rx⋅ R⋅+ 16 π

2⋅ F
2⋅ L
2⋅+ R

2+⋅( )
⋅=



solve for  L:

1−

2 π F R( )2− 4 ATT
2⋅ R

2⋅+⋅ ⋅ ⋅ 
Rx
2

R( )2⋅ 4 ATT
2⋅ R

2⋅ Rx
2⋅− 4 ATT

2⋅ R
3⋅ Rx⋅− ATT

2
R
4⋅−⋅

1−

2 π F R( )2− 4 ATT
2⋅ R

2⋅+⋅ ⋅ ⋅ 
Rx
2

R( )2⋅ 4 ATT
2⋅ R

2⋅ Rx
2⋅− 4 ATT

2⋅ R
3⋅ Rx⋅− ATT

2
R
4⋅−⋅

1

2 π F R( )2− 4 ATT
2⋅ R

2⋅+⋅ ⋅ ⋅ 
Rx
2

R( )2⋅ 4 ATT
2⋅ R

2⋅ Rx
2⋅− 4 ATT

2⋅ R
3⋅ Rx⋅− ATT

2
R
4⋅−⋅

1

2 π F R( )2− 4 ATT
2⋅ R

2⋅+⋅ ⋅ ⋅ 
Rx
2

R( )2⋅ 4 ATT
2⋅ R

2⋅ Rx
2⋅− 4 ATT

2⋅ R
3⋅ Rx⋅− ATT

2
R
4⋅−⋅





























L
1

2 π⋅ F⋅ R
2− 4 ATT

2⋅ R
2⋅+⋅

Rx
2
R
2⋅ 4 ATT

2⋅ R
2⋅ Rx

2⋅− 4 ATT
2⋅ R

3⋅ Rx⋅− ATT
2
R
4⋅−⋅:=

L
Rx
2
R
2⋅ 4 ATT

2⋅ R
2⋅ Rx

2⋅− 4 ATT
2⋅ R

3⋅ Rx⋅− ATT
2
R
4⋅−

2 π⋅ F⋅ R
2− 4 ATT

2⋅ R
2⋅+⋅

:=

L 1 10
7−×=

att 2 ATT⋅:= att = atten in a  R - R  ohms (source - det)  system
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apres  simplif
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Note that  L  is the

apparent inductance
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